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PART — 1 (Teaching Ability, Reasoning and General Knowledge)
qrr - 1 (s aftel, aeafda @ amm= 9m)
(Question Number 1 to 100) / (957 ¥&41 1 § 100 TF)

Teacher uses visual-aids to make learning—
(A) Simple

(B) Quicker

(C) More knowledge

(D) Interesting

The most important cause of failure of

teacher lies in the area of—

(A) Interpersonal relationship

(B) Verbal ability

(C) Lack of command over the knowledge
of the subject

(D) None of these

Which is the least important factor in
teaching—

(A) Punishing the students

(B) Maintaining discipline in the class

(C) Lecturing in impressive way

(D) None of these

For showing the model in the teaching of a
topic teacher should—

(A) Keep showing throughout the lecture
(B) Stand in front of the model

(C) Show model when need arises

(D) None of these

Who wrote ‘Indica™—
(A) Kalidasa
(C) Magasthenese

(B) Kautilya
(D) None of them

Who is appointed as the speaker of 16th Lok
Sabha ?

(A) Arun Jaitly

(B) Sumitra Mahajan

(C) Sushma Swara;j

(D) Govind Singh Kunjwal

1.

th

ALAYS YT WA F TN AU
fre=ifatas a9 & @0 axar &—

(A) |3

(B) 999 g9 & faq

(C) it 9 & o

(D) Eat TF & fag

SEATIE & STAHAd] & qa9 g7 HR0T 8
(A) STaaidas a-y

(B) AT, &

(C) faua & Sw gara fHa=r 5 &0
(D) Iudras | FrE TEl

A | 99 SHEEF FRE FF o
(A) BIET FI T &1

(B) e&m § SgET @

(C) T@gIall & ¥ ARAM &

(D) S90a & T T8

& s & e F gizd % Sudm & 99
fere &1 e anfe—

(A) B8 @ & S §ER e 9ife
(B) ®izd@ & 9 @S B 96T

(C) srasgaEar 89 W fEm @few

(D) =¥ & &g 7

EfozEr F1 wEE T gr—

(A) FTTEHE (B) ®ifeea

(C) FregHs (D) &4 & = 7@
1697 TEET & sreme & w9 {5 frga
fopar mar & ¢

(A) &Y e

(B) =T e
(C) g1 =R
(D) wiia= foe
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10.

11.

12,

13.

i4.

Annual Ratha Yatra of Lord Jagannath takes
place in which of the following state ?

(A) Tamilnadu (B) Karnataka

(C) Himachal Pradesh (D) Odisha

Who is appointed as the arbitrator in
Vodafone tax dispute case ?

(A) Ashok Chawala (B) R. C. Lahoti

(C) K. K. Malhotra (D) M. B. Shah

An example of audio-visual media is—
(A) Charts (B) Television
(C) Radio (D) Models

An example of maturation is when a child
learns to—
(A) Walk
(C) Read

(B) Draw
(D) Ride a bicycle

Whick of the following is not a domain of
learning—

(A) Cognitive
(C) Conative

(B) Affective
(D) Spiritual

Ram returned the pencil, he took from Seeta’s
desk because he was afraid of punishment,
ifhe got caught. This illustrates Kohlberg’s—
(A) Pre-conventional level

(B) Conventional level

(C) Post-conventional level

(D) None of these

‘Konkan Rail” directly connects—
(A) Delhi to Chennai

(B) Dehradun to Tanakpur

(C) Jammu to Kanyakumari

(D) None of these

“Operation Black Board™ was the outcome of—

(A) Kothari Commission

(B) National Curriculam Framework - 2005
(NCF - 2005)

(C) National Policy on Education - 1986
(NPE - 1986)

. (D) National Curriculam Framework - 2000

(NCF - 2000)

10.

11.

12;

14.

SET-A
EM T @57 91 @ gl Bt GG
g % § f5gd 9= 26l B—

(A) T (B) #fez

(C) fearaw wear (D) SEm@

A A & S § geae & € H
g @ & 7

(A) SSTF TrEan (B) &, ¥ @E<
(C) &. &. 9= (D) wH. 91, 9

T99-47 HEAY & IAE E—

(A) = (B) <ritias
(C) tEar (D) Hi=d

qhqqq\h & Q’E R %‘r ﬁﬁﬁ?‘[ CIE RS Ffi TEGT
B

(A) T (B) =i &
(C) e (D) w\Efea =@

Fret & @ &M @ uF afam @ wy T

B

(A) HEHHE (B) GET@E
(C) TFaTia (D) smeatHT

T A Hi F S5 4 ol g uie e @ o
il S Uhs WM U qOl M@ @ ST 97|
(A) FE- TG T

(B) TR TE &Y

(C) TH-UTRE &Y

(D) T § &E &l

“ETFHU @ G WIsal 86—

(A) fel 3R =12 &

(B) SEUEA S YT G

(C) 59 3R FargATd &

(D) 315 ¥ =i T8

“ITTET & 9re” giom a—
(A) TS ST &

(B) TG UIgasEH @1 - 2005
(C) T §ferE I - 1986
(D) TS YIgEEE AT - 2000
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16.

17.

18.

19.

20.

21.

Rural Development Minister Nitin Gadkari
launched the Shyama. Prasad Mukherjee
National Rural Mission on ....... with an
allocation of 100 crore rupees.

(A) PPP model

(B) PTP mode!

(C) VTZ model

(D) STS model

Who is the Army Chief{ of India—
(A) Vikram Singh

(B) B. S. Chauhan

(C) D. K. Jain

(D) Dalbir Singh Suhag

When is Anti-Terrorism Day observed ?
(A) 20 May (B) 23 May
(C) 22 May (D) 21 May

The Education Minister of Uttarakhand is—
(A) Harish Rawat

(B) Dinesh Agarwal

(C) Mantri Prasad Naithani

(D) Preetam Singh

Project teaching method is associated with—
(A) Frobel (B) John Dewey
(C) Armstrong (D) None of these

When the child is ready to learn, he learns
more quickly and effectively. This principle
was given by—
(A) Thorndike
(C) Paviov

(B) Skinner
(D) None of these

A teacher in a classroom should act as a—
(A) Progressive role (B) Bossrole
(C) Democratic role (D) None of these

The objective of teaching is to—

(A) Create good citizens

(B) Create persons who are usefu! for the
society

(C) Create socialistic persons

(D) All the above

R
weat

SET-A

15. 7 fawm w=n Mias =0 9 o &

YT 97 1uommxa¢mﬁzﬁma
AT FRTE Y A T e @ M
T

(A) drdrdr. iz

{B)ﬂf"ﬁfﬂ LES

(C) dA 5z, Az

(D) Ta.d.0E. §ieF

IRE 9 Y WE EW i
(A) s fiz

(B) &1, mH. A

(C) E. &. 5F

(D) TedR e q2m

FRFIE-Td fTag 78 99 9 T
(A) 20 wE (B) 23 %E
(C) 22 =5 (D) 21 =%

Eve ) foE gl B
(A) B91 TaT

(B) feaw smam

(C) =0 YAE TR

(D) e &
e Tt ot foms g B—
(A) T (B) & &l

(C) FHEA (D) =99 § % @
Tl 3 P T # dEal B 1 gE gera
e yiemien faar ¢
(A) fTHERS B
(C) Y1gwTE T

(B;f@:ﬁm
(D) =95 | FE T8

T S T FE) [ B e anei—
(A) FETA gFm § (B) 918 F g
(C) valias gmar ¥ (D) &9 € @i 72

faren =1 SE2eT B—

(A) (T2 SFIE g9

(BR) T =fomat = o s w9 fA
2 E]

(C) T T
1L1}7?H?T""
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23.

24.

25.

26.

27,

28.

29.

30.

How many individuals were awarded the

2014 Raman Magsaysay Award ?
(A) Five (B) Six
(C) Four (D) None of these

World Elephant Day was observed across the
world on which day ?
(A) 11 August
(C) 12 August

(B) 19 July
(D) 10Jaly

An effective teacher is one who can—
(A) Control the class

(B) Give more information in less time
(C) Motivate students to learn

(D) None of the above

The FIBA Asian cup is associated with which
among the following sports ?

(A) Table Tennis (B) Hockey

(C) Football (D) Basketball

While teaching a theoretical topic in the class,
teacher should proceed from—

(A) Unknown to known

(B) Concrete to abstract

(C) Reasoning to observation

(D) None of these

A teacher can minimize depression among
students by—

(A) trying to understand its causes

(B) motivating the students

(C) Aand B

(D) reporting to Principal

Microteaching is most effective for the
students—

(A) During the practice teaching

(B) After the practice teaching

(C) Before the practice teaching

(D) None of the above

Value education makes a student—
(A) Doctor (B) Good citizer:
(C) Engineer (D) None of these

23.

24.

26.

27.

28.

29.

30.

SET-A
fope eafmdl #1 2014 T FEE qEER |
(A) UrE (B) &

(C) "R (D) 99 & FIE 78

faga = fegw gfvar ) ¥ e @R waman
A E ?

(A) 11 3T (B) 19 gai

(C) 12 3F= (D) 10 JaE

(A) F&m W fg=m

(B) &9 99g ¥ s g1 o

(C) Taanfeial =1 dew & fou sfmia &
(D) =1 | & T

FIBA 1ufsma oy Fefaies @ & 49 fead
g & 7

(A) aw 2= (B) &at

(C) wzata (D) arhedTa

I fo=1 59 § gomr Tifeu—

(A) 3T ¥ o1

(B) ¥ ¥ Gy

(C) a& ¥ e

(D) =94 ¥ &1E 7E

BT= %1 ISRl & Y F & [0 STeAs
& qEdT £—

(A) THE TR F GIGT FT FIAT FET
(B) BT & Hifede &t

(C) A I B

(D) UITHETE Hﬁ:ﬁ B

HIEHISTEvT BE-uEel & oo fog omfa §
I FHIESE] BlaT 8—

(A) farerer s & e

(B) fsreror g & @

(C) Tamor argr § yed

(D) SuE ¥ &iE 78

RIS {318 v 7 @ e g—
(A) BTFX (B) =T ARTNE
(C) siferg=m (D) =0 § &1 78
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31.

32.

33.

34.

35.

36.

38.

39,

District Primary Education Programme
(DPEP) was launched in the year—

(A) 1986 (B) 1984

(C) 2001 (D) None of these

How many gold medals were cinched by India
in 2014 Glasgow Commonwealth Games—
(A) 10 (B) 12

(C) 14 (D) 15

In a lively classroom situation, there is likely
to be—

(A) Occasional roars of laughter

(B) Complete silence

(C) Frequent teacher-student dialogue

(D) Loud discussion

In your view, teaching is—
(A) An Art (B) A Skill
(C)A&B (D) None of these

Area of individual differences is—
(A) Gender-difference (B) Body structure
(C) Mental abilities (D) All the above

A child who behaves against the social rules
and regulations is called—

(A) Delinquent child (B) Idiot child

(C) Dull child (D) None of these

. Kumar Sangakkara (Cricket player) belongsto

which country ?
(A) India (B) Sri Lanka
(C) Pakistan (D) Australia

For the students of 3rd class, which will be
the test way for teaching ?

(A) Lecture Method

(B) Creational Activities

(C) Group Discussion

(D) Laboratory Method

The academic performance of students can
be improved if parents are encouraged to—
(A) Supervise the work of their wards

(B) Arrange for extra tuition

(C) Remain unconcerned about it

(D) None of these

31.

32.

33.

35.

36.

37.

38.

39.

SET-#

T gr—
(A) 1986 (B) 1984
(C) 2001 (D) &9 & &g

2014 TATEEN TLHYSH @@l § 9Wd A
@l 9 SAd—

(A) 10 (B) 12

(C) 14 D) 15

uF qoig Fe frafy § fr=fafas § § 9
e getaa 32—

(A) T TR &7 &7 SR

(B) gof &9 & quf=a

(C) ferer-gr= amf

(D) faenfefdi & <9 gell 9ed

9 AR, farErr —

(A) U% FHal (B) & FIyd
(C) A IR BT (D) 399 § g &l
e faf=asit @ & g—

(A) fem 9 (B) IR @A
(C) AMig® argan (D) 3 |41

o et @ el & faea ader

T ATAF FEATl B—

(A) aTe STOTE (B) Wsgis dh
(C) w<gfg I (D) FH & FE 7l
FHR TN T 491 & frde faamel 8-
(A) 9RE (B) =frefar

(C) urferea (D) STieran

T - A & FrenfHar & foro = & § FE
foreror =1 wEE Iy A9 -
(A) &A™ At
(B) g 36T e
(C) T4& ardieny
(D) wargman fafer
YahaT © Tfe ARRITERT @ Swed fHar s/
(A) 5= & &1 &1 e & & oo
(B) aifers Zg™ &1 Y57 & & (o
(C) =& T ¥ fifsg 7 89 & fo
(D) 37 & I 7l
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40.

41.

42.

43.

44,

45.

46.

If a student often comes late in the class you
would—

(A) Talk to his parents

(B) Complain to Principal about him

(C) Punish him severely

(D) Find the reason and then decide accordingly

A school girl developed the habit of dropping
the coat on the floor. Mother asked the girl
to get out of the room and hang up the coat
on the peg. The girl enters house keeps coat
on, approaches closet, hangs up the coat on
the peg. It is an example of—

(A) Chain learning

(B) Stimulus response learning

(C) Concept learning

(D) All the above

A process in which an individual learns new
responses by observing the behaviour of another
rather than through experience is known as—
(A) General Learning

(B) Social Learning

(C) Experimental Learning

(D) None of these

A provision for education for the children
with disabilities can be made through—
(A) Integration

(B) Main streaming

(C) Inclusive education

(D) None of these

For primary school children, which of the
following is better ?

(A) Video simulation

(B) Hands on experiences

(C) Experimental

(D) None of these

‘Toy age’ refers to—
(A) Early childhood (B) Babyhood
(C)A&B (D) Late childhood

Tobacco addiction is due to—
(A) Cocaine (B) Caffeine
(C) Nicotine (D) None of these

SET-A
40, FUF FET H TF BH & W4 faew ¥ o
q’{_
(A) S8 ARTIEE § T BCT
(B) vermEd ¥ IHS! @ad s
(C) ¥ 3R T8 &
(D) TR & T dagar i <

41. TF W I AT @gd 7 Y W B GEHA
#1 ST 319 W & | TS B AT 7 349 Fel &
FE & TIEC TS SN FHe N G W AT |
TS ST 9 B H YA HET &, BT B B
97 T@HL FA Bl T S H R B Qe
q¢ 2T T B | gE e B
(A) HEaTTd e &

(B) ST SRR SR &
(C) y=gg AfemT &y
(D) SaT |4l

42. Torg uirar ¥ =i g & @EER & S@a(
%ﬂ@m%qﬁnmaﬁaﬁ,aﬁmm

43. T:9Ta STl & 13 & ferg yraens fmar o
qFHar &—
(A) GHTHET T
(B) & 910 ¥ T
(C) TaTEfsE e am
(D) 3% & &g &

44. grafies faeredl & e & fao e § e
FEq qEA B 7
(A) fafedr ergeger
(B) @& & & faar mar argea
(C) warmeTH
(D) =95 § = T

45. ‘Tl %1 A e A e
(A) 9@ TreamEsr (B) disraraen

(C) A X B A (D) IR IramEen
46. T F T fEad B B

(A) FEFM (B) &WI

(C) Fatfest (D) T ¥ FE &
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47.

48.

49.

50.

51.

52.

53.

54.

SS.

What is the minimum age for marriage of
boys and girls in India ?

(A) 21 years and 18 years

(B) 18 years and 21 years

(C) 18 years and 20 years

(D) None of these

Break down in verbal communication is
described as—

(A) Short circuit
(C) Unevenness

(B) Contradiction
(D) Entropy

Photographs are not easy to—
(A) Publish (B) Secure
(C) Decode (D) None of these

The National Disaster Management Authority
functions under the Union Ministry of—
(A) Home affairs  (B) Water Resources

(C) Defence

Which one of the following is the best

method of teaching ?
(A) Lecture
(C) Discussion

The famous temple “Dhari Devi’ is located at—

(A) Near Srinagar
(C) Chamoli
492027

(A) 8

(C) 16

The sum of—

1 +243+4+5 e

(A) 5000
(C) 5050

(D) None of these

(B) Demonstration
(D) Narration

(B) Uttarkashi
(D) Pithoragarh

(B) 6
D) 13

(B) 4500
(D) 4050

7L
1020
717
1020

(B) 7

(D) 8

47.

48.

49.

50.

51.

wn
th

SET

T H @E% 9 asfeRdl @ [ae ard g

AGHTE ?

(A) 21 a9 T 18 a9
(B) 1834 g 21 a9
(C) 18 a9 720 a9

(D) =98 ¥ F1E 7E

Hiigs §a H U™ EFT&%&%T

(A) 7 ufuy (B) S
(C) sraama (D) Tl
BT & o FET A el € |
(A) FHTIIH (B) &

(C) FHaa (D) =99 4 FE T
ST AT9T Y= WITEET s & Fohg 7
% T FE FET S 7

(A) & "o (B) @ qameH
(C) & (D) =8 ¥ &g 7
faefafaa § 4 freor & garw 201 &F
3

(A) = (B) w3

(C) feram famyet (D) T

(A) MR & TR (B) SRS H

(C) T4 §

i 4292}

(A) 8
(C) 16

1+2+3+4+5 ...

(A) 5000
(C) 5050

9_3_+7._2__9*_1.__—,,
4 17 15
817

1020

817

1020

(A) 7

(©)

(D) fadmrm o

(B) 6
(D) 13

..... + 100 &7 TT-

(B) 4500
(D) 4050

717
®) 77020
717
1020
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56. a__bb__baa__bbb__aa
(A) aabba (B) bbaab
(C) abaaa (D) baabb
57. AZ;CX,FU,
(A) IR ®B) IV
©)JQ (D) KP
58. PSVYB, EHKNQ, TWZCF, ILORU
(A) ZCFIL (B) SVYBE
(C) BEHKN (D) ADGIM
Note: Q. No. 59 to Q. No. 62 depend upon
the following coding.
Figure # D @ A #
Code L
Figure Q $ D
Code 6. 8. =}

59. Which number is prese; ited by following
figure—

TGP R -

(A) 16198 (B) 79168
(C) 79816 (D) 17968

60. Which number is depicted by the following
figure—

OCEARD

(A) 24672 (B) 46772
(C) 72246 (D) 27462
61. Which number is presented by the following
figure—
(A) 56714 (B) 19844
(C) 56744 (D) 56144

62. Which number is presented by the following
figure—

AGEGOA A

(A) 47645 (B) 45754
(C) 54674 (D) 74654

56.

57.

58.

59.

60.

61.

62.

SET-A

a__bb_baa__bbb__aa
(A) aabba (B) bbaab
(C) abaaa (D) baabb
AZ,CX, FU,
(A) IR ®B) IV
© (D) KP
,PSVYB, EHKNQ, TWZCF, ILORU
(A) ZCFIL (B) SVYBE
(C) BEHKN (D) ADGIM

: 9 9. 59 ¥ 62 Fr=fufaa gz @ smar

wE

cﬂso@u&%
Gﬂ(‘ﬁ DE

FE 8. 9.
ﬁmﬁﬁiﬁﬁiﬂmﬁﬁﬁfﬂﬂﬁ

%2

OGP R -

g a7

(A) 16198 (B) 79168
(C) 79816 (D) 17968
f=ifea g w9 & g weiie e
T2
BDLUARD
(A) 24672 (B) 46772
(C) 72246 (D) 27462

=it § @9 91 gE Wikl gk g 7

T REAA

(A) 56714 (B) 19844
(C) 56744 (D) 56144

fertiteser & &9 ¥ G Waidfa et & ¢

AGCRAN

(A) 47645 (B) 45754
(C) 54674 (D) 74654
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63.

64.

65.

66.

67.

Complete the following Number Series :

1,3, 11,47, . ueees 1439

(A) 239 (B) 293

(C) 932 (D) None of these
15,10,5,150,16,12,4,192,20, 15,5, ........
(A) 700 (B) 600

(C) 400 (D) 300

2,20, 120, ........, 3190

(A) 220 (B) 330

(C) 440 (D) 630

How many rectangles are there in the
following figure—

(A)9 (B) 10
(C) 16 (D) None of these
Find the missing letter in the following table—
A|CI|E
N|K|[H
R{V]|?
(A) Z B) T
© L (D) 1

68. Inthe following figure how many triangles are there—

69.

70.

E\
/
(B) 14
(D) 22 or more

(A) 11
(C) 16

IfA=1and AID = 36, then BELL="?
(A) 16690 (B) 2210
(C) 1440 (D) 1210

Who has been appointed as the new Railway
Minister—

(A) Suresh Prabhu

(B) Manohar Parrikar

(C) Bipendra Singh

(D) Jagat Prakash Nadda

10

63.

64.

66.

67.

68.

69.

70.

SET

=1 "er 9 # Qi
1,3,11,47, ........ , 1439
(A) 239 (B) 293
(C) 932 (D) =9 ¥ E 7E
15,10, 5, 150, 16, 12, 4, 192,20, 15, 5, .....
(A) 700 (B) 600
(C) 400 (D) 300
. 2,20, 120, ........ . 3190

(A) 220 (B) 330
(C) 440 (D) 630
g o 78 o F forae amae B—

I |

L

(A) 9 (B) 10
(©) 16 (D) &9 ¥ ZE &

Feer 5 €1 i anforeer & g2 BT SR 31 o ifom
A|C|E
NIK|H
RiV|?
(A) Z B) T
(C)L D) 1

& ¢ o # B @ e o A

=

(B) 14
(D) 2291 3tfers

i A= 13 AID = 36, f BELL =2

(A) 16690 (B) 2210

(C) 1440 (D) 1210
mmﬁmmuﬁrﬂﬁgﬁ T fmar T
%_

(A) G 7Y

(B) 9HTET Uit

(C) fat=s fie

(D) SId GHIST TS

(A) 11
(C) 16
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£ D A has launched the new Guaranteed
Minimum Pension Scheme in Dehradun.
(A) Menaka Gandhi (B) Smriti Irani
(C) Dharmendra Pradhan (D) None of these

72. The state game of Uttarakhand is—
(A) Cricket (B) Badminton
(C) Hockey (D) None of these

Note : (Q. No. 73 to 77) Choose the correct
figure from A, B, C, D in place of
question mark (?) i.e. make a full series.

73. E}Q
L]

Question Figures

Answer Figures

&

(A) (B) (C) (D)

74. {0 (UL (ul 2 Question Figures
LU IruLl L [Answer Figures
A (B) (C) (D)

75. » |Question Figures
‘% a @ Answer Figures
(4) (B) (C) (D)

76. » |Question Figures

Answer Figures

OO
QO

(A) (B) (C) (D)

7. 1D ﬁ | ? |Question Figures
g EI ﬁ E Answer Figurcg
{A) (B) () (D)

SET-A
3 q e | A2 MEga e deE
AT 1 AT o |
(A) et T (B) &9fa gar

(C) g weaM (D) =78 & FiE &

72. IOURETE & U G T &

(A) frde (B) FefioeT
(C) &ril (D) =14 ¥ FE &

et : (U= 73 |/ 77 9F) T9dS UST A 90 UH
ﬂaaﬁgﬁqeﬁvﬁ@ sf@Ear & QU
) |

73. @ Q <> ? | ggt angfaat
:E, E ﬂ \/3 I i
(A) (B) (C) (D)

74. (LN (UL U] 7 | e Sl
LU Uy e | s engfoat
(A) (B) (C) (D)

. | €D CR | 2 | ueT gt
L o' Bley P, l -
© @ DD | s amghwi
(A) (B) (C) (D)
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6. | QOO0 2 | v s
OC|0|Q
(A) (B) (C) (D)

7. | DD O || ? | v gl
18 |A|Q | s agha
(A) (B) (C) (D)
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78. Match list I to List II—
List I List I
(Name of MLA) (Constituency)
(a) Dinesh Agrawal (1) Khatima
(b) Subodh Uniyal (2) Dharchula
(c) Pushkar Dhami (3) Dharmpur
(d) Harish Rawat  (4) Narendra Nagar
Code—
(b) (@
&)
(B)
©)
D)

P
B2 b= WR
j—
(VR FE R U T -
~
b e g B
- R D B

79. The state animal of Uttarakhand is—
(A) Lion
(B) Cow
(C) Kasturi Mrag
(D) Elephant

80. Mil Mi-17 is a/an .......... helicopter.
(A) Russian
(B) Indian
(C) American
(D) None of these

81. The official state second language of
Uttarakhand is—

(A) Hindi

(B) Sanskrit
(C) English
(D) Jaunsari

82. Who was Tapan Ray Chaudhary ?
(A) Historian
(B) Economist
(C) Painter
(D) Actor

SE’

78. Tt 1 &1 faems gt 1 & difog—

g 1 g 1
(frams @ ) (Faams a9 &
(a) Ay snmEm (1) @&
(b) garg SfamE (2) G
(c) gk amfl (3) T
(d) &5 A (4) &% TR
‘qi‘\d’._....

(a) (b) (c) (@)
(A) 3 4 1 2
(B) 1 3 4 2
© 4 3 i 2
(D) 4 3 2 1

79. TAMETE F T 9 B
(A) SR
(B) T
(C) F=E g
(D) Tt
80. UH.IEUAUHIME-17 TF .......... ERieals

(A) wHI
(B) 9E™
(C) i

(D) =9 § HI1E T

81. swu@vs & Auwmw Em s
&
(A) =it
(B) 9%
(C) STt
(D) s

82. YW T A FA & 7
(A) SaEmEER
(B) srdsrret
(C) o=
(D) srfa

12
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Note : (Q. Ne. 83 to 87) Choose the right neat

83.

84.

85.

86.

87.

figure from the answer figure which one
is the next right figure for the question
figure series.

Question figures :

— |-

Answer figures ;

HiBB

.
H

H

(A) (B) (C) (D)
Question figures :
4 =0]|=0 x|OxL|xA =|[S=0
x * = O %
Answer figures :
=0 % = 0Ol=0 xX|l=0e@
e e 4 S
(A) (B) (C) (D)

Question figures :

0)
i
AR
NI

I

I
o/

D)

5
W
EN
=/
B
>/

@

(e]

(A) (B) (C)

—

Question figures :

© pree £ o
o—
o == o__le

Answer figures :

- O - o

e :

83.

84.

85.

86.

87.

13

SET-A
(wg 4. 83 ¥ 87 o) F=fofaa st wg &
e @ ol @1 A Qe SR & di
pfadl 7 & A SR SNl 91 SR
93T AGfadl & dee 916 Sl 91y ?

e s

H|H
HiH

(A) (B) (C) (D)

H

WS Spfaar

A =0|=0 x[OxOJxA =[S=0
X * = (o] x
S ESIEARR

=0 x| =0=0X=0e

e 3 L S

(A) (B) (C) (D)
TS FArTaal
€9€%ﬁoﬁhﬁh
| o/ /el)
SR R
(al| /ARy alay| Al
817\ 8
(A) (B) (C) (D)
563 -

® o -
Gﬁ?ﬂlﬁ% -

- o - o
(A) (B) (C) (D)
9§ it

Ald | 4lc|ald|4]x|als
slc|al=|=|*%|al]? |7]|o
= e
4lol?|lal?]|a]4lo

vi+ | +|4 | O]# |als

(A) (B) (C)

08(PHY.EDU.)A



88.

89.

90.

91,

92,

93.

94.

Which is the highest peak of Uttarakhand—
(A) Trishul (B) Nanda Devi
(C) Chogori (D) Neelkanth

‘Operation Surya Hope” is related to which state—
(A) Uttarakhand (B) Uttar Pradesh
(C) Bihar (D) Tamil Nadu

Who was appointed as a Nodal Officer for
Relief and Rescue operation in Uttarakhand-—
(A) V. K. Joshi

(B) V. K. Sharma

(C) V. K. Thapliyal

(D) V. K. Duggal

Hon. Governor of Uttarakhand is appointed by—
(A) Chief Minister of Uttarakhand

(B) President of India

(C) Prime Minister of India

(D) Home Minister of India

Who led the Chipko Movement—
(A) Gaura Devi

(B) Chandi Prasad Bhatt

(C) Govind Ballabh Pant

(D) None of them

*Ansutya Prasad Bahuguna® is also known
as—

(A) Gandhi of Uttarakhand

(B) Garh Keshari

(C) Vraksh Manav

(D) None of these

Kalsi Inscription is related to—
(A) Emperor Chandra Gupta
(B) Maurya Emperor

(C) Emperor Ashok

(D) None of them

14

88.

89.

90.

91.

92.

93,

94.

wm

TAEYS FT gad FHl "6l g—

(A) By (B) =T &40
(C) = (D) HrwEve
‘e gl B S ey § wEfu
(A) TTUETE (B) ITT =T
(C) faer (D) afFeTg
TEETE ¥ e U 9919 &1 & fag f

Area AT & w7 § fge e
(A) 41, &. e

(B) &i. &. yf

(C) 9. &. guferar

(D) 4. &. g

TIETE % AT. VoAU Hl B IR H
(A) TIEE & A ERT

(B) Tufa R

(C) a1

(D) A & TEHET &

(A) T &

(B) TSt yaE W2

(C) Ma= Ie019 91
(D) 378 | &I T

Il B—

(A) TTEYE & Tl & 99 |
(B) TE@Hd & A9 g
(C)ger 9a & 919 §

(D) =7 & =g &

Fodl #1 fsmeE fFad gafug -
(A) WO T

(B) A1 ®g®

(C) |HTZ 39T

(D) 1 ] %12 78
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95, Name of Kumaon in Purana’s—

(A) Kedarkhand
(B) Uttarakhand
(C) Uttranchal
(D) Manas Khand

Note : (Q. No. 96 to 100) Read the following

96.

9.

98.

99.

figure and give suitable aaswer from
given options.

)
b @\V ¢

In figure triangle represents doctor, circle
is represents players and rectangle is
represents artist, then—

How many artists and players are doctors—

(A) 6 (B) 8

©€) 4 D) 3

How many artists are players—

(A) 30 (B) 29

(C) 25 (D) None of these

How many artists are there who are neither
players nor doctors—

(A) 29
(C) 22

®) 30
(D) 8

How many doctors are there who are neither
player nor artists ?
(A) 17

©) 8

(B) 30
D) 17

100. How many players are there who are neither

artist nor doctor—
(A) 22
(C) 25

(B) 4
D) 3

15
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95. gUvii # FHATS HI b A0 F S S Gi—

e

96

97

98

99.

"

(A) FEREE
(B) STU@"E
(C) TTigd

(D) HHEETE

: (999 €. 96 9@ 100 TF) TAS U & [T
fer=niferer srrepfer @t sreage & o sfa
ST 2 |

N\
N

3
22
i W

/

Tuq Brge steed @t, ga fawfsat
%ﬁammmmﬁaﬁmfam
1
frrm weeR ud feaE St € 2
(A) 6 (B) 8
©) 4 D) 3
fererr TR Al 8—
(A) 30 (B) 29
©) 25 (D) 579 & &E &
o weeR U8 € @ 9 o Reedl € o) 7
Elaei—
(A) 29 (B) 30
(C) 22 (D) 8

e ey U9 ¥ S 7 o fEaEt  oiR A
FAHR ?

(A) 17 (B) 30
€) 8 (D) 17
100. fFa~ faendt O € & 7 o SoreR € iR 7
STge—
(A) 22 (B) 4
(C) 25 ®) 3
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SET-A

PART-2 (Physical Education) / 97 - 2 (9miRe farem)
(Question Number 101 to 200) / (357 &1 101 & 200 %)

101. Choose correct combination in the
following—

(A) Glucose — Cardia
(B) Haemoglobin — R.B.C.
(C) Heart — Blood sugar
(D) None of these
102. Match list I to List II—
List I List II
(Cricket Stadium) (Country)
(@) Eden Park (1) South Africa
(b) Newlands Cricket (2) Pakistan
Ground
(c) Igbal Stadium (3) India

(d) Holkar Cricket (4) New Zealand

Stadium
Code—
(@) (b) (© (d)
A 1 2 4 3
B) 2 1 -4 3
) 4 1 2 3
(D) None of these

103. Name the Indian Test Cricketer who

participated in field Hockey at the 1928
Amsterdam Olympics—
(A) Vinoo Mankad
(B) Vijay Merchant
(C) Vijay Hazare
(D) Nawab of Pataudi, Sir (Iftikhar Ali Khan)
104. When and where was the Olympic flag used
for first time ?
(A) 1896, Athens Olympics
(B) 1996, Atlanta Olympics
(C) 1920, Antwerp Olympics
(D) None of the above

16

101. Fr=ffiae & & w1 g &1 939 Hife—-

(A) TBI o

(B) #Areifed  — AT
©C) &1 - & T
(D) T ¥ &E T

102. g1 1 &1 e gt 11 & difomm—
1

SSll LSIRY
(Feae Rfeam) @)
(a) & S (1) Zf&ror STk
DR GEREET (2) wfeeam™
P HERES
(c) s@am@ Rizam  (3) WA
(d) B Tz (4) =gsfieros
wian
@"_
(@) (b) (c) (@)
A 1 2 4 3
(B) 2 1 4 3
C) 4 1 2 3
(D) T q HIE T

103. 3% wdE Brde Reerd & am g Rea
St St 1928 # UmgetEH Sifeias §
a7 forar ar—

(A) o weEE
(B) favmm wawe
(C) fa=ig &=t
(D) 9a19 i1 Y2, 97 (FRER o6 @)

104. Swfas s &7 Ta9gq F9 Sl &l ganT
foran mar ar 7
(A) 1896, Ta= 3fafgs
(B) 1996, sie@rer Sfwtas
(C) 1920, T2aY 3fiwfiges
(D) ST § FE 78
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105. Indian Olympic Association was formed in
the year—
(A) 1927

(C) 1943

(B) 1929

(D) None of these
106. Olympic rings indicates—

(A) Five mountain (B) Five rivers

(C) Five countries (D) Five continents

107. In which year the National Anthem of India
was played for first time in Olympics ?
(A) 1950 (B) 1948
(C) 1924 (D) 1932
108. Match list I to List II—
ListI List 11
(a) Hinge Joint (1) Knee
(b) Saddle Joint (2) Thumb

(c) Ball & Socket Joint
(d) Pivot Joint

(3) Neck
(4) Shoulder

Code—
(@ () (©) (@)
(A) 4 1 3 2
B) 2 4 3 ]
() - 3 2 - 1
(D) 1 2 - 3
109. Abrasion is an injury to the—
(A) Skin (B) Bone
(C) Blood (D) Muscles
110. Hydrotherapy means—

(A) Therapy with wave
(B) Therapy with water
(C) Therapy with oil
(D) Therapy with heat
111. What is the time duration of men Kabaddi
game ?
(A) 20-20 minutes
(C) 35-35 minutes

(B) 40-40 minutes
(D) 25-25 minutes

SET-A
105, 9t sfafad w8 & i e ad gan

En’_

(A) 1927 (B) 1929

(C) 1943 (D) =9 § & 7&
106. 3w 81 a9 E—

(A) UM vl &1 (B) i Afedl @t

(C) dfw 2oif &t (D) U werdl &

107. YR &7 T AWas @dl 8 Usdl a1
forg ad o somar man 2

(A) 1950 (B) 1948
(C) 1924 (D) 1932
108. gt 1 &1 fam= g9t 11 & $ifem—
i 1 o
(a) g0 &g (1) g
(b) wafor |ivg (2) st
(c) Sq@w &= (3) WA
(d) g g+ (4) &Y
az?"_
(a) ) () (d)
(A) 4 1 3 2
(B) 2 4 3 1
) 3 2 4 1
D) 1 2 4 3
109. ‘TS & 9T -
(A) = &l (B) &2 &
(C) @ & (D) =rayst #i
110. 5w Fafehear &1 o &—
(A) T | IUER
(B) 9l ¥ SUER
(C) 9@ ¥ SYER
(D) T ¥ IUER

111. &6 &1 FagS! @q @a & Gm F E 7
(A) 20-20 f=e (B) 40-40 fe
(C) 35-35 fy=e (D) 25-25 faie

17
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112. The angle of throwin
(A) 60°
(C) 45.92¢

& Sector in shot put—
(B) 30°
(D) None of these

113. Pele was prominent player of
(A) Hockey (B) Footbal]
(C) Vollybal! (D) None of these

114. Where is the world’s highest cri cket ground

Situated—
(A) Lords (B) Chai]
(C) Oval (D) Kolkata
115. To which village in Kerala does P. T. Usha
belongs ?
(A) Trivendram (B) Payyoli
(C) Kochin

(D) None of these

116. What is the duration
(A) 1 minute
(©) 3 minute

of a round in Boxing ?
(B) 2 minute
(D) 4 minute

117. From which count
originated 9
(A) America
(C) India

ry the game basketbal]

(B) Russia
(D) None of these

118, How many chambers are ther
heart ?
(A) Two
(C) Three

e in human

(B) Four
(D) None of these

119, Who said “Sound M;j
(A) Descartes
(C) Aristotle

nd in a Sound Body™ 2
(B) Rousseay
(D) None of these

126. Study of joints is called—
(A) Kinesiology
(B) Amhmlogy
(©) Biology

(D) Anthro pometry

. SE
l 112. nmﬂm}*ﬂmwm%
(A) 60° (B) 30°
{ (C) 45.920 (D) T & 7ré 7£
113. 7w iy fammey ar—
(A) &1 g7 (B) wzate =y
(C) arfrare =

(D) =78 % #1¢ 75

} 114.%'@3%3@%%%%%
l
:
f

(A) witdm (B) T
(C) e (D) Frermmy

lxs.wmﬁmmaﬁﬁ.ir U wEhg

g7
/ (A) =y (B) ygie !

(C) Fafery (D) =19 F ¢ 75 .'

116. W#wmﬁmﬁﬁﬁ?ﬁﬂ??
(A) 1 fige B) 2 fime
(©) 3 fiygz (D) 4 figz

117 aﬁ%ea‘méaf%qasrﬁmmww ?
(A) srfra (B) &m
(C) urg

HS. W 9187 % ey TP Fm o

(A) ?r—mw (B) &t _
(C) dfrierz (D) =% & ¢ o
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121.

122.

Where were the first SAF games held 7
(A) Kathmandu (B) Malaysia
(C) Delhi (D) Pakistan

The most important motto of Physical
Education is—

(A) Healthy body and healthy mind

(B) Healthy body

" (C) Healthy society and motion

123.

124.

125.

126.

127,

128.

(D) None of these

Term ‘Free throw’ is used in which game—
(A) Wrestling (B) Football
(C) Cricket (D) Basketball

Which organ secretes bile ?
(A) Liver (B) Pancreas
(C) Kidney (D) Thyroid gland

Blood is oxiginated—
(A) In the muscles
(C) In the lungs

(B) In the cell body
(D) None of these

Red Blood Cell (R.B.C.) are produced in—
(A) Muscles (B) Lungs
(C) Heart (D) Bone Marrow

16 P.F. Questionnaire is—
(A) Sociological Test
(B) Psychological Test
(C) Kinesiological Test
(D) None of these

Mode can be calculated with—

(A) L, + =y (M-C)

f
Z+dx
) x1I
N
(C) 3 median — 2 mean
(D) L, + r [E'-C)

19
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122,

123.

124.

125.

126.

127.

128.

SET-A
9Ed U (SAF) @ el T §U 7
(A) FHTRHZ (B) wafymar
(C) et (D) e

i e &1 s weayf SR B
(A) T IX ST @eg 79

(B) | SHKK

(C) T&r T9 R T

(D) T § FrE &

F GY =8 &1 I9anT R @ | e §—

(A) Ff ORI
(C) fraz (D) aredra

Fi 9T 3T G159 GG FET © 7
(A) T (B) SR
(C) T (D) grsuEs 7=l

T FT SFEEH Hadr 8—
(A) wigufyEr § (B) Sifgrarat |
(C) wwel # (D) T ¥ FIE T

T T SR (AT 7 SaeT B B
(A) Tigafyrar § (B) %wei A
C) &= (D) siftg Hea

16 41.0%. YsAmaw! &—
(A) |TIE GET
(B) wifasm aidteqor
(C) Tl i udigrr
(D) =9 & &€ 7

TEAF &1 TOMT HI S Tl 5—
LE_LI
f

(A) L, + (M-C)

Z+dx
N
(C) 3 median — 2 mean

i 2
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129. Pushing against the stationary wall is an
example of —
(A) Eccentric Exercise
(B) Isometric exercise
(C) Isotonic exercise
(D) None of these

130. Match list I to List [I—

List I List II
(a) L.C.PE. Gwalior (1) 1954
(b) N.I.S. Patiala (2) 1957
(¢c) N.D.S. (3) 1961
(d) N.F.S. (4) 1965

Code—

(a) (b) (c) (@)
(A) 3 1 2 4
B) 2 1 3 4
C) 2 3 1 4
(D) 4 3 2 1

131. The chronological order of appearance of the
following is given—
(1) Common Wealth Games
(2) Asian Games
(3) Arjun Awards
(4) Rajeev Gandhi Khel Ratan Award
Code—
(A) 1,2.3,4
B) 2,3,1,4
(C)4,1,2,3
(D) None of these
132. Rajkumari Amrit Kaur was outstanding
player of which game ?
(A) Hockey (B) Volleyball
(C) Badminton (D) Tennis

133. Which enzyme digest protein ?
(A) Liapse
(B) Amylase
(C) Trypsin
(D) None of these

20

SET-A
129. mﬁﬁmﬁm—ﬁ?mmmw

=

(A) =% @A
(B) ATERAISH AE™
(C) smeHRi=E @
(D) T | &g @

130. Tt 1 &1 e gdft I 8§ -
I gt 1
(1) 1954
(2) 1957
(3) 1961
(4) 1965

(0) TRETGE. T
(b) TA.IMETH. wfeErEr
(c) TTEIUH.
(d) TI.U%.T4.
@.—
(a) (b)

(c) (@

(A) 4
®)
©

D)

IR W
) W) e s O
[ I US B 6 |

4
4
1

131. 1 & HTeEET | 39 U W O H TAT
-
(1) FETa T
(2) ufgras =
(3) ST TR
(4) TET T T T GEER
- )
(A) 1,2,3,4
(B) 2,3,1,4
(C) 4,1,2,3
(D) T4 ¥ &g &

132, TOEAT 9T &R fRg ww @ aw e
a7 2

(A) 2T

(B) dfeirEi
(C) Fefioes

(D)

133. Wi & 9T FIH-97 UAEH &l & ?
(A) TTEUS
(B) TaRaS
(C) feftaw
(D) & | T &
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134.

Total error in a research is equal to—

~ (A) Sampling error + non-sampling error

135.

(B) J sampling error + non sampling error

(C) Only sampling error
(D) None of these

Match list I to List II—

ListI List TI
(a) Idealism (1) John Dewey
(b) Realism (2) Rousscau

(¢) Naturalism
(d) Pragmatism

(3) William James
(4) Aristotle

(5) Plato
Code—
(@) (b) (c) (d)
A 3 1 4 2
(B) 3 5 4 1
) 5 4 2 1

136.

137.

138.

139.

(D) None of these

Sliding filament theory of Muscles
contraction was given by—

(A) Huxley (B) Darwin

(C) Newton (D) None of these

AAHPER Youth Fitness Test measures—
(A) Motor Fitness  (B) Motor Ability
(C) Physical fitness (D) None of these

BMI (Body Mass Index) is given by—
Wt in kg Wt in Ibs
(A) Ht’ m (B) Ht’ m
( i D) N fth
©) Wt in kg (D) None of these

Scope of Sports Management depends on—
(A) Personnel

(B) Facilities

(C) Finance

(D) All the above

21
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134. girgy w7 § &« Ffe quEt -

(A) T e + I g e
(B) /T 3R = + T o AR
(C) Faw Fwafm Ffe
(D) T & Fig 7&
135. g1 1 &1 foems g2t 1§ aiforg—
gl 1 T 10
(a) ITesfare () Sagg
(b) TeTEETS (2) &4
(c) gferare (3) fafem =0
(d) arsfREarE (4) JITE.
(5) ==
@_
(a) (b) (c) (d)
A) 3 1 4 2
B) 3 5 4 1
(C) 5 4 2 1
(D) =98 & BE T&
136. Hrqushl g &1 wEien fware e

137.

138.

139.

s g far -
(A) TFa
(C) gz

(B) =ifd=
(D) ¥ & F5 T

TG ULESR. (STTEY) JaT aoan TaavT &
AT B—

(A) HIT gemar (B) WIX gemar
(C) it zgrer (D) ¥4 & &S e
dl.um.eng. (S arg 29) i Sy S 8-
Wt in kg Wt in lbs
(A) "HE m ®) g m
2
© Winkg (@ THIIT
T YT o Hae i o R e a—
(A) FIHH
(B) gfaam
(©) fa=
(D) Sutiea |t
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140. If the distribution of score is symmetrical,
then its—
(A) Mean and median will be same
(B) Mean will be greater than median
(C) Both stand apart
(D) Do not coincide
141. The muscles fibre taking approx. 110 micro
seconds to reach peak tension when
stimulated is—

(A) FT, (B) FT,
(C) FT, (D) ST
142. Match list [ to List [I—
List I List II

(a) Three Second
(b) Throw in

{c) Roll-in

(d) Service

(1) Football
(2) Hockey
(3) Basketball
(4) Badminton
(5) Cricket
(6) Kabbadi

Code—
(@) (b) (c) (d)
(A) 6 ] 2 5
B) 5 6 1 i
(C) | 2 4

(D) None of these
143. Word Kho in the game “Kho-Kho” is from—
(A) Hariyanvi Language

(B) Bengali Language

(C) Sindhi Language

(D) Marathi Language

144, Karnam Malleshwari weight lifter belongs
to which state—

(A) Kerala (B) Karnataka

(C) Andhra Pradesh (D) Tamil Nadu

5. What is the length of pitch in Cricket ?
(A) 22 yards (B) 22 feet
(C) 22 meter (D) None of these

22

SET-A
140. afe @i (S6rd) &1 29 79igq &,
JHE—
(A) 917 S TIfeads U qHE el
(B) 9red S HeAHT § SA1E 951 BT
(C) & F&a o= &
(D) 3rFET Tl &

141, TRl EM T FIHT 110 HEmEETE §
T T GE A A v B
(A) FT, (B) FT,
(C) FT,. (D) ST

142, g1 1 =1 faems g 1 ¥ Fifem—
gl 1 it 1

(a) 41 F72 (1) qeaE
(b) G- (2) g
(c) -3 (3) grEgear
(d) 9w (4) geraven
(5) forae
(6) FaE
ai\z_
(a) b) (¢) (d)
(A) 6 1 2 5
B) 5 6 I 2
(C) 3 1 2 4
(D) = ¥ #E 7
143. ‘@i-@1’ @« 4 '@ 9= {69 9197 § 3w 3
(A) BT
(B) ST
(C) e
(D) 52

144, ¥R 66 FE8 Tdd g U= 4 7 7
(A) FT (B) FATeH

(C) YT q&9T (D) atEg

(A) 22 a2 (B) 22 ¥
(C) 22 = (D) 4 § FE T
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146.

l 47‘

148.

149.

150.

151.

152.

153.

For running event what is the minimum
length of the track—
(A) 250 meter
(C) 300 meter

(B) 500 meter
(D) 400 meter

Name the first Indian (male) to swim across
the English channel—

(A) Thomas Cook (B) Mihir Sen

(C) Khajan Singh (D) None of these

World Cup Cricket 2015 is held at—

(A) Australia & New Zealand

(B) India

(C) Pakistan

(D) England

Which of the following colours is not present
in Olympic flag ?

(A) Pink (B) Green

(C) Yellow (D) Blue

Who is the recipient of Maulana Abul Kalam

Azad (MAKA) Trophy ?
(A) University (B) State
(C) A player (D) A coach

Who is the author of the book title
“Psychology in contemporary sports™ ?

(A) 1. B. Kane

(B) Bryant J. Cratty

(C) R. B. Alderman

(D) None of these

Anabolic steroids affects directly to—
(A) Heart (B) Brain
(C) Muscles (D) Lungs

*AIDS’ is transmitted through—
(A) Sex

(B) Tears

(C) Sliva

(D) Contact with affected person
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SET-A
146. 31z @i yfaaitar & fog oo @ =gaam wwaré
el B—

(A) 250 HizX (B) 500 Hix
(C) 300 HiX (D) 400 Hr=x
147. EfasT 999 @1 X UR & d1aT el HRdd
759 &—
(A) gmE FH B) fér &=
(C) o fHe (D) T | FE FE
148. faga &9 forae 2015 el IR gon—
(A) smegfern SR =Jofies |
(B) G |
(C) wiewam §
(D) ¥z ¥
149. Iwiad #9S ¥ HF 91 47 A8 BT § 2
(A) Tt B) =0
(C) dram (D) e
150, HISHT STgW HaH NG el (1) fHaar

& ST T 7

(A) Rl @1 (B) T &

(C) uw Rawmst & (D) & wies &t
151. “Psychology in contemporary sports” & W@&
(A) & FF
(B) ST . Wt
(C) IRAlL Tt
(D) & & &g T

Y €Y | UG0S ©gs 9 gHIied -
A)ea (B) wf&ie
(C) Afguigrai (D) B2

‘TEE W UE § @ H fw wror § G -
(A) TF9 (F9 R)

(B) sirgeil &

(C) g% T

(D) afga F g §

152.

153.
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154

156.

158.

159.

160.

161.

. The only one sport college of Uttarakhand is
situated at—
(A) Nainital
(C) Haridwar

(B) Chamoli
(D) Dehradun

. The state game of Uttarakhand—
(A) Football (B) Hockey
(C) Badminton (D) Cricket

Total number of Gold Medals won by Indian
hockey team in Olympics—

(A) 12 (B) 19

(C) 8 (D) None of these

. First Individual Olympic medal winner from

independent India—
(A) P. T. Usha
(C) Pradip Bode

(B) K. D. Jadav
(D) None of these

In which stadium Sachin Tendulkar
completed his 100th century—

(A) Eden Garden

(B) Green Park

(C) Shere Bangla Stadium

(D) None of these

Which trophy is associated with Football—
(A) Santosh Trophy (B) Durand Cup
(C) B.C. Roy Trophy (D) All the above

Dimension of Badminton court—

(A) 20 feet x 44 feet [6.1 meter x 13.4 meter]|
(B) 25 feet x 50 feet

(C) 30 feet x 45 feet

(D) None of these

The word single, double and mixed double
is associated with which game ?

(A) Badminton

(B) Tennis

(C) A& B hboth

(D) Football

24

154.

158.

159,

160,

161.

(A) irerer (B) e

(C) BRREr (D) &
. TTEYE &F 099 @ B—

(A) HeaT (B) g

(C) gsm™veA (D) frae
WWZTH;’WI{WWW
Sd
(A) 12 (B) 19 ]

(C) 8 (D) =9 | =12 74 |
. T W SETE  9EH dg Eﬁﬁ

o SET.4 !
o ]

AT ST T AT—

(A) 4i. fr._w (B) &. g1 9ea
(C) &7 912 (D) =% § &5 7@
A gt 9 ST 10087 9ies e 2

5 garai—

(A) Tz7 mER

(B) 94 912

(C) g e w=fsay
(D) 3% | &g &

W § HEied 9 A g -
(A) F=IT TR (B) ¥z @y

(C) 1. |1. T Zr&t (D) Iwias 4

getveT F12 F1 WY BT £ _
(A) 20 BT x 44 Gz [6.1 Hiax x 13.4 9w §
(B) 25 HiE * 50 ¥
(C) 30 Bz x 45 Tz
(D) =77 § ¢ T

1 U, I AR s g faw @@ A
TieE & 7 i
(A) ssfiiem

(B) ¢

(C) A 3IX B EHf
(D) wza
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162. Name the first woman player to represent
India at 1952 Helsinki Olympics—

(A) Karnam Malleshwari

(B) Mary Leela Row

(C) P. T. Usha

(D) Anjali Bhagwat

163. Who was the founder of Naturalism ?
(A) Rousseau (B) Plato

(C) Brown Well (D) None of these
164. Master degree in sports coaching is awarded
by—

(A) N.S.N.LS. Patiala

(B) Garhwal University

(C) LN.U.P.E. Gwalior

(D) None of these

165. Which of the following modalities is best to
cure sprain—
(A) Hot packs
(C) Ice therapy

(B) Infra-red lamp
(D) Water therapy
166. Which is the largest muscle in human body ?
(A) Saratus (B) Sartorius

(C) Glutious (D) None of these

167. Deficiency of Vitamin - D in children causes—
(A) Scurvy (B) Beri beri
(C) Rickets (D) None of these

168. Factor associated with cohesion are (find the
correct combination)—
(I) Team satisfaction
(1) Individual performance
(III) Team ranking in competition
(IV) Social support
A) @), av)
(B) (II), (IV)
(C) (IV), (1)
(D) None of these
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SET-A
162. Ewfde sfmia® 1952 # wwd@ &m &1 5gd

form wfear Raens! arr fran rar—

(A) &9 Feagad

(B) Hi @m0

(C) b1. 41. 9T

(D) 3 qrETad
163. YFfaE &1 ¥ F FF 91—

(A) ®ET (B) wrer

(C) &re (D) = ¥ & &
164. @a afafyen ¥ SaEmr #i Sl ye= @t

T E—

(A) TH.TH.TA.30E.049. S

(B) Teare FAataEme™

(C) Ta.ua.q.41.8. warfean

(D) T | &€ &l

165. M=ifoifag § 9 &9 91 &0, 919 & SO &
fou 9aq -

(A) T gree (B) T9F1E @7

(C) a% Faferear (D) s fefeea
166. WG YER H Ha9 @1 Jgdsi & 91 8

(A) gEE (B) srEiRas

(C) wgfeaw (D) 399 | FE 7l
167. 5=t ¥ faetas € (D) 1 &4 § 2@ a—

(A) @™ AT (B) g0-ad

(C) gar (D) 9 & ®IE 76

168. T8fE & WY FF | °H giag € 7 (FE

W gha—

(1) 7 =g

(1) =fRmr wey

(M) sieaiie | 39 @1 F9i@
(IV) g a9e9

(A) (D, V)

(B) (IID), (1V)

(C) (IV), (1D

(D) T99 | FE &l
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169. In 2014 the World Cup Football was held in—
(A) South Africa
(B) France
(C) Brazil
(D) Rome

170. The Arjuna Award was started in—
(A) 1960 (B) 1961

(C) 1981 (D) None of these

171. *Mango Cup’ is associated with which game—
(A) Hockey

(B) Basketball

(C) Golf

(D) None of these

172. Which of following games has the largest
playing area ?

(A) Football

(B) Hockey

(C) Cricket

(D) Polo

173. Match list I to List Il—
List I List 11

(a) Yorkar (1) Shooting

(b) Antenna (2) Volleyball

(¢) Tiger Woods (name) (3) Golf

(d) Jaspal Rana (4) Cricket

Code— (a) (b) (c) (d)

(A) 4 3 2 1

B) 4 1 2 3

(C) 4 3 1 2

D) 4 2 3 |
174. Largest bone in the human body is—

(A) Tibia (B) Fibula

(C) Femur (D) Humerus
175. How many field players are there in one team

of Volleyball—

(A) 13 (B) 6

)5 (D) None of these

. _ SET-A
169. 2014 ¥ {993 9 gEra FEl T4~ gl
(A) feer ST

(B) w4
(C) arsiTat
(D) T
170, T TN & I .oeernes BAT |
(A) 1960 ¥ (B) ‘1961‘1':{

(C) 1981 ¥ (D) T 4 &%

171. ‘5 &9 59 &7 § vty -
(A) BT
(B) @&tz ara
(C) T&F
(D) &9 & T &
172. 7971 % § 29 § @9 & HEw 999 9%
BT T 7
(A) FeEl®
(B) Bl
(C) Tz
(D) dr
173. g 1 &1 T g2 11§ aifore—
il gl 1
(a) AT (1) Femar
(b) T (2) ararET
(c) TEW g8 (A7) (3) MEE
(d) SHITE I (4) e
4G— (@) (b) () (d)
(A) 4 3 2 1
(B) 4 ] 2 3
) 4 3 ] 2
(D) 4 2 3 i
174. A9 SR &1 999 921 581 Bl o—
(A) fefean (B) Sfesirer
(C) Sty (D) wefveaT
175. Aitate &1 o €W ¥ faa & fewrd
g7
(A) 13 (B) 6
(C)s (D) =74 & FE T
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176.

177

178.

179.

On *set” command the sprinter is In—
(A) Stable equilibrium

(B) Neutral equilibrium

(C) Unstable equilibrium

(D) None of these

Wet spirometer is used for the measurement
of—

(A) Blood pressure

(B) Pulse rate

(C) Vital capacity

(D) Oxygen intake

In sports ergogenic aids help to—
(A) Increase strength and endurance
(B) Increase concentration

(C) A & B are correct

(D) None of these

Match list I to List II—
List I (Term)
(a) Deuce
(b) Jump ball
(¢) Upper cut
(d) Bull’s eye

List II (Sports)
(1) Tennis
(2) Boxing
(3) Shooting
(4) Basket ball

Code—
(a) (b) (¢) (d)
(A) 2 1 3 4
B) | 4 2 3
() 4 3 2 1
D) 1 2 3 4
180. The test of significance used for comparing

181.

two means 15—
(A) F test
(C) x*

(B) "t test
(D) ANOVA

Research cannot be based on—
(A) Opinions

(B) Observations

(C) Hypothesis

(D) Facts

176.

178.

SET-A
I "EE a7 aave v faa fafm o wa e-
(A) Ter g

(B) T8 WA

(C) s gegem

(D) T | &IE @l

.z wEiEe = 8 f fEeEm e & e

v far e B—
(A) W TE

(B) FE1 ¥=A

(C) a1g gl

(D) 3T B9 &9

@l ¥ ush v e e a9
FId £—

(A) TTEa 3 §eA 9 &1 gem

(B) TETET T

(C) A3 BEl @8l &

(D) T8 § FIE FF

179. g4 | & e g4 11 & $ifeu—
Tl 1 (91) T 11 (Ew)
(a) =34 (1) 2=
(b) 5 T (2) =nferi
(¢) AT F2 (3) P
(d) Teq-JO= T &% (4) g 9w
HZ_.F:_‘
(@) (b) () (d)
(A) 2 | 3 4
B) |1 4 2 3
(C) 4 3 2 1
(D) 1 2 3 4

180. 21 7l # gom @ fou wgm &1 9m am

181.

adF e &ty wm oA E o
(A) F-adreror (B) ‘t* UiiEm
(C) x? (D) A

sty fr=y o e =8 B
(A) TR

(B) Fhae

(C) uiEwa
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182.

183.

184.

186.

187.

188.

189.

Gluteus maximus muscle is situated in—
(A) Arms (B) Thigh
(C) Lower leg (D) Hip

Choose correct combination—
(A) Escape — Anger
(B) Combativeness — Fear
(C) Curiosity — Wonder

(D) Construction — Imagination

How many time-outs are allowed in football
match ?

(A) S B) 7

) 4 (D) None of these

- In an Indoor Volleyball match the minimum

clear height requirement is—
(A) 12 meter

(B) 27 meter

(C) 39 meter

(D) None of these

Split half method is used to test—
(A) Validity (B) Reliability
(C) Objectivity (D) Administrability

The greatest normal load is called—
(A) Maximum load

(B) Overload

(C) Crest load

(D) Normal load

The Olympic Motto *Citius’, *Altius’,
‘Fortius’ was coined by—

(A) Suresh Omprakash

(B) Pluto

(C) Darvin

(D) Father Henry Didion

National fitness corps programme was
framed in—
(A) 1965
(C) 1985

(B) 1999
(D) None of these
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SET-A

182. eifeas et Hiaash #ef fea gl -
(A) It & (B) = &
(C) faa & (D) %=
183. Fe1 AT g FI 72 Fifom—
(A) T - Ty
(B) TmE9E  — ol
(C) Torgman - gy
(D) 1T - FHETAT
184. Gzdi 89 F fre 21ew amee #1 o B
(A) 5 (B) 7
(C) 4 (D) &4 § &IE 7&
185. 52K ARET &9 § aom Far smagms

186.

187,

188.

'g_

(A) 12 bz

(B) 27 1w

(C) 39 dix

(D) =98 q FE 45

T@T E—
(A) e (B) favaa-igan
(C) a&gieea (D) 9STHF argar

AT A 9 F Fe B
(A) AfaFaq g

(B) ey

(C) &&= R

(D) T 41

3 9= frae T g 1y
(A) g9 simweETs

(B) w21

(C) =rigw

(D) wrex &34 f2digm

189. g e draar widy wmy gamr T

En__
(A) 1965 (B) 1999
(C) 1985 (D) 519 § &7 7
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190.

9L

192.

193.

194.

195.

When Y.M.C.A. college of Physical
Education Madras was started in—

(A) 1931

(B) 1920

(C) 1941

(D) 1950

Who conceived the Asian Game’s movement ?
(A) Prof. Karn Singh

(B) Prof. M. C. Dhawan

(C) Prof. G D. Sondhi

(D) None of these

Which one of the following is aerobic activity ?
(A) Cross country

(B) Weight lifting

(C) Throwing

(D) Jumping

Choose wrong combination—

(A) Pancreas — Diabetes

(B) Kidney — Stone

(C) Tobacco — Weight lifting
(D) Alcohol — Liver

Mark the correct sequence of the following—
(T) Stretching exercises
(II) Passive exercise
(1IT) Unresistive exercise
(IV) Active exercise
(A) IL TV, IIL, I
(B) IV, IL I, 111
(C) 1L IL IV, 1
(D) None of these

Which of the following emotion is peculiar
only to human being—

(A) Love

(B) Fear

(C) Laughter

(D) None of these

SET-A
190. 9TE.UH.AT.0. Ficror 37 T womhed mar
%9 URFA gl 7 |
(A) 1931
(B) 1920
(C) 1941
(D) 1950
191. TS @Al & SATRIe &1 deda e & 4 ¢
(A) UT. &+ gz
(B) 9I. wq. HI. @
(C) wr. <. &1, grey
(D) 379 § =< &

192. Ftafaa 8§ § o= 91 uifes Grar & 7
(A) T Fegl

(B) 9 I
(C) grE
(D) =&

193. T g F TG Dl —
(A) W - AgE
(B) Tef - T
(C) F=mE — 97 S
(D) 9 - @

194. =1 &1 @@ wn F fafea wi-
(1) feam & &sad

(IT) & &1
(1) fam sraireg watd
(V) g&i (uferea) waed

(A) 11,1V, 111, 1

(B) IV, I, I, 111

(C) L 11, IV, 1

(D) T § F1E A&

T ¥ W A WS A | E uEr S e
(A) @R

B) =

(C) &g

(D) a7 & F1E 7
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196. Choose correct combination—

197.

198.

199.

200.

(A) The colour of lame ropes placed in lanes
1 and 8 in swimming pool — Green

(B) The colour of the lane ropes placed in
lanes 2, 3, 6 and 7 in a swimming pool
— Blue

(C) The colour of float extending for a
distance of 5.0 meter from each and of
the pool — Red

(D) All the above combination are correct

Choose incorrect combination—

(A) Classical theory — Max-Weber
of management

(B) Human Resource — Elton Mayo
theory

(C) Administrative — Taylor
theory

(D) None of these

The Asian Games 2014 were held at—
(A) Incheon - South Korea

(B) China

(C) India

(D) Japan

In the Asian Games 2014, India won how
many medals—

(A) 21 gold, 18 silver, 18 bronze — Total 57
(B) 21 gold, 11 silver, 14 bronze — Total 36
(C) 11 gold, 10 silver, 36 bronze — Total 36
(D) None of these

The Olympic Games 2016 will be held at—
(A) Beizing (China)

(B) Reo De Janeiro — Brazil

(C) USA

(D) None of these

30

SET-A
196. e gafaa & F1 949 Fa0—

(A) fafifr g & 1 o 8 o § @wmE
TE-IT @A — B

(B) feafer gw & &9 2, 3, 6 &R 7 § g ME
@ U9 & — e

(C) 9 & 9% Tt & 5 X T a%
TU WIE # T — A

(D) Swie |1 @l gafog £

197. e AT I F F9T Hifao—

(A) WEwET F — Hag 947
(B) AE HaTEH — U A
AR

(C) womtas fagrw — &R
(D) STIHT | HIE T8

198. Uiy W 2014 FEf T gU—
(A) 3i=ar - feror i
(B) 9
(C) W
(D) I

199. Ufraw @« 2014 § wRa 7 fbaq 92 sie—
(A) 21 Tiee, 18 T, 18 s ~ g 57
(B) 21 ez, 11 faeaw, 14 d=1 — & 36
(C) 11 7reg, 10 fawR, 36 §F1 — & 36
(D) 574 & w7

260. Ay @9 2016 F AATST Bii—
(A) difS (d)
(B) Rar-3 s9far — awiier
(C) g.ug.m.
(D) =78 | g 7
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